Uses of Slide-A-Round 10,000X

	Round each number to the nearest thousand.

27,128 _________________

87,299 _________________

98,917 _________________

10,178 _________________


	Round each number to the nearest ten thousand.
74,898 __________________

86,732 __________________

28,019 __________________
96,173 __________________
	Which number is greater when rounding to the nearest ten thousand?

○ 45,187
○ 44,989
○ 43,787
○ 44,861


	Identify these numbers in order from greatest to least. 
(81,215 – 88,175 -  84,135 -  83,789)

○  81,215 – 83,789 – 84,135 – 88,175
○  88,175 – 83,789 – 84,135 – 81,215
○  88,175 – 81,215 – 84,135 – 83,789
○  88,175 – 84,135 – 83,789 – 81,215
	Estimate the difference when rounding to the nearest 10,000.
                              78,512
                            - 18,198_
○ 60,000
○ 100,000
○ 60,484
○ none of the above

	□- 73,178- 78,913-□
Which two numbers could go in the empty boxes?

      ○ 71,283        81,232
      ○ 68,199        70,128
      ○ 73,914        79,229
      ○ 74,378        77,888       

	Which number is not between 31,287 and 34,187?
   ○ 32,738
   ○ 33,284
   ○ 35,485
   ○ 34,092
	Estimate the difference by rounding to the nearest thousand. 

                                 72,185
                               - 61,283_
○ 10,000
○ 130,000
○ 11,000
○ 9,000
      
	Round each number to the nearest ten thousand. 

99,753→_________________

43,518→_________________

28,901→__________________

18,740→_________________

	Bill’s car cost $26,213. Approximately how much money did he spend?
○  $30,000
○  $20,000
○  $10,000
○  $40,000
	Which number is more than 64,839, but less than 76,758?

○ 61,003
○ 76,769
○ 66,537
○ 77,286
	Identify these numbers in order from least to greatest.
(48,215 – 42,998 – 48,818 – 46,415)
○ 42,998 – 46,415 – 48,818 – 48, 215
○ 46,415 – 42,998 – 48,215 – 48, 818
○ 48,818 – 48,215 – 46,415 – 42,998
○ 42,998 – 46,415 – 48,215 – 48,818



